
次の (1)～(8)の各英文の空欄をそれぞれ下の 1⃝～ 6⃝語または語句で埋めて最適な英文を作る場合，空欄 1～

16に入れるのに最も適切なものを一つ選べ。

(1) It ( ) ( 1 ) ( ) ( ) ( 2 ) ( ) this collection.

1⃝ a long time 2⃝ have 3⃝ him

4⃝ must 5⃝ taken 6⃝ to complete

(2) She went to the hairdressers ( ) ( 3 ) ( 4 ) ( ) ( ) ( ).

1⃝ to 2⃝ short 3⃝ her

4⃝ have 5⃝ hair 6⃝ cut

(3) He sang as he marched, which ( ) ( ) ( 5 ) ( ) ( ) ( 6 ).

1⃝ to forget 2⃝ tired 3⃝ he was

4⃝ him 5⃝ how 6⃝ helped

(4) It is surprising that a person ( ) ( 7 ) ( ) ( ) ( ) ( 8 ) so easily.

1⃝ taken 2⃝ your intelligence 3⃝ should

4⃝ of 5⃝ in 6⃝ be

(5) I knew that he was ( ) ( 9 ) ( ) ( 10 ), but he acted ( ) if he ( )

completed his homework.

1⃝ being 2⃝ far 3⃝ finished

4⃝ from 5⃝ as 6⃝ had

(6) This train is entirely automatic. There is no driver, but a mechanic is ( ) ( 11 ) ( )

( 12 ) ( ) ( ).

1⃝ anything 2⃝ always available 3⃝ go

4⃝ in case 5⃝ should 6⃝ wrong

(7) I disapproved of people who ( ) ( 13 ) ( ) which ( ) ( ) ( 14 ) of

keeping.

1⃝ have 2⃝ make 3⃝ no intention

4⃝ promises 5⃝ they 6⃝ all sorts of

(8) The reporter compressed ( ) to the ( ) ( 15 ) length ( ) ( ) ( 16 ).

1⃝ the story 2⃝ its effect 3⃝ minimum

4⃝ possible 5⃝ ruining 6⃝ without


